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NEW QUESTION 1
What are three well-known mandatory BGP attributes? (Choose three.)

A. next hop
B. origin

C. community
D. MED

E. AS path

Answer: ABE

NEW QUESTION 2
Exhibit
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You are advertising a summary route that represents your local network (172.20.0.0716) to both ISP A and ISPB. You want to influence all traffic sent to you from
ISP C to go through R2.
How would you accomplish this task?

A. On R1, prepend your AS number three times on the 172.20.0.0/16 route when advertising It to ISP 1.
B. On R1, change the local preference value to 250.

C. On R2. prepend your AS number three times on the 172.20.0.0/16 route when advertising it to ISP 2.
D. On R2, change the local preference value to 50.

Answer: B

NEW QUESTION 3
Exhibit
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iserirouter$ show Eridge-domains
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vlan-id-1ist 101-12C;

Referring to the exhibit, which two statements are correct? (Choose two.)

A. Traffic ingressing ge-0/0/0 that is tagged with VLAN 101 will egress ge-0/0/1 unchanged.

B. Traffic ingressing ge-0/0/0 that is tagged will VLAN 100 will be dropped.

C. Traffic ingressing ge0/0/0 that Is tagged with VLAN 200 will egress ge-0/0/1 with an outer VLAN tag of 200.
D. Traffic ingressing ge-0/0/0 that is tagged with VLAN 101 will egress ge-0/0M with an outer VLAN tag of 200.

Answer: AB

NEW QUESTION 4

Which two statements ate correct about the BGP next-hop attribute value? (Choose two.)
A. By default, the next-hop value is changed across IBGP links.

B. By default, the next-hop value is changed across EBGP links.

C. By default, the next-hop value is not changed across IBGP links.

D. By default, the next-hop value is not changed across EBGP links.

Answer: A

NEW QUESTION 5

Which two LSA types are permuted in OSPF totally stubby areas? (Choose two.)
A. Type 1

B. Type 3

C.Type 5

D. Type 7

Answer: CD

NEW QUESTION 6
Exhibit
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[edit]
user@Routerl$ show protocols bgp
group External |
peer-as 64525;
neighbor 172.25.1.2;
}

Referring to the exhibit, what must be included in the Routel configuration when establishing an EBGP session with the ISP?

A. A local address must be specified.

B. A local AS must be specified.

C. The BGP session type internal must be specified.
D. The BGP session type external must be specified.

Answer: A

NEW QUESTION 7
Exhibit
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You are asked to configure OSPF between routers R1 and R2 using IPv6 addresses. Which two tasks will accomplish your objective? (Choose two.)

A. Issue the sec protocols ospf area 0.0.0.0 interface ge-0/0/1.0 command.
B. Under the [edit routing-options] hierarchy, configure a 32-bit router ID.

C. issue the set protocols ospf3 area 0.0.0.0 interface ge-0/0/1.0 command.
D. Under the [edit routing-options] hierarchy, configure a 128-bit router ID.

Answer: AD

NEW QUESTION 8
The segment touting SRGB start label Is 10,000 and the SRGB index range is 500.
In this scenario, which two statements are correct? (Choose two.)

A. The first usable label is 10,001.
B. The last usable label is 10.501.
C. The last usable label is 10,499.
D. The first usable label Is 10,000.
Answer: CD

NEW QUESTION 9
Exhibit

Passing Certification Exams Made Easy

visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy JNO-363 dumps

@ 2 P QsseaQs LJ https://www.2passeasy.com/dumps/INO-363/ (65 New Questions)
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Router B
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MPLS
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The routers shown in the exhibit are configured for segment routing.
In this scenario, what is the adjacency SIO that Router B advertises to Router A?

A. 12
B.10.1.11
C.10.1.1.2
D.11

Answer: B

NEW QUESTION 10
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Referring to the exhibit, which two statements are correct? (Choose two.)

A. Devices in AS 65512 will prefer ISP A for traffic destined to the 172.20.21.0/24 network.
B. Devices In AS 65512 will prefer ISP A for traffic destined to the 172.20.0.0/24 network.
C. Devices in AS 65512 will prefer ISP B for traffic destined to the 172.20.21.0/24 network.
D. Devices In AS 65512 will prefer ISP B for traffic destined to the 172.20.0.0/24 network.

Answer: C

NEW QUESTION 10
Exhibit
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You confirm that the R2 and R3 routers are receiving a BGP route to the 203.0.113.0/24 network, but both routers display the route as hidden. Referring to the
exhibit, which two actions solve this problem? (Choose two.)

A. Apply the routing policy on R1 as an export policy to the IBGP group.
B. Apply the touting policy on R1 as an Import policy to the IBGP group.
C. Configure a routing policy on R1 that sets the next hop for the 203.0.113.0/24 BGP route to the IP address that R1 uses for IBGP peering.
D. Configure a routing policy on R1 that sets the next hop for the 203.0.113.0/24 BGP route to the IP address that R1 uses for EBGP peering.

Answer: CD
NEW QUESTION 14
Exhibit
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Referring to the exhibit, what is the minimum number of LSPs required to support alt four networks?
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Answer: C

NEW QUESTION 16
An OSPF router does not have a router ID configured.
In this scenario, which statement is correct about the router ID?

A. The Junos OS will use the IP address assigned to the interface with the lowest MAC address.
B. A router ID will not be assigned until it is manually configured.

C. The Junos OS will use the IP address assigned to the loopback interface for the router ID.

D. The Junos OS will use the IP address assigned to the Interface with the highest priority.

Answer: B

NEW QUESTION 19

You want to see a detailed list of all established BGP sessions. In this scenario, what would be a valid command to accomplish this task?
A. show bgp neighbor

B. show bgp summary

C. show rouse receive-protocol bgp <neighbor IP address>

D. show rouse protocol bgp

Answer: D

NEW QUESTION 20
Exhibit
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Which two statements are correct about the service provider MPLS network shown in the exhibit? (Choose two.)

A. R3 is considered a P router.

B. R3 is considered a PE router.

C. R3 is considered a transit router.
D. R3 is considered an ingress router.

Answer: AB

NEW QUESTION 22
Exhibit

| M\ Exhibit 3
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ge-0/0/1 ge-0/0/1 ge-0/0/1

DRother DRother DRother

You are asked to configure the OSPF environment to prevent the DRother routers from participating in DR/BDR election.

Referring to the exhibit, which command will accomplish this task?

A. set protocols ospf area 0.0.0.0 interface ge-0/0/I priority 255

B. set protocols ospf area 0.0.0.0 interface ge-0/0/1 priority O

C. set protocols ospf area 0.0.0.0 interface ge-0/0/1 interface-type nbma
D. set protocols ospf area 0.0.0.0 interface ge—0/0/1 interface-type p2p

Answer: A

NEW QUESTION 24

You want to enable a routing platform with redundant REs to switch from a primary RE to a backup RE without alerting peer nodes. Which two technologies would

you use to satisfy this requirement? (Choose two.)
A. GRES

B. VRRP

C.NSR

D. ISSU

Answer: BC

NEW QUESTION 28
Exhibit.

Passing Certification Exams Made Easy

visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy JNO-363 dumps

@ 2 P QsseaQs U https://lwww.2passeasy.com/dumps/IJN0-363/ (65 New Questions)

{edic routing-cptions]
userdroutert show

aggregace

route 172.21 f22

edit routing-opticns)

ser@zouterd run show route protocol aggregat

iret.0: 21 desatinations, 2 routes (20 active, holddown, 1 hiddan)
inet6.0: 10 descinations, 10 routes (10 active, O holddown, © hidden
edis routing-options

serf@routerd run show route hidden
irat.0: 21 deatinations, 21 routes (20 active, D helddoswn, 1 hiddan)
+ = Active Route, = Last Active, " = Both

at2.21 2 [Aggregate] Q0:1 ¢

Lot =i L =
iraté.0: 10 dastinations, 10 zouces (10 active, 0 holddown, O hiddan -

Referring to the exhibit, you have configured an aggregate route that represents the 172.21.0.0/24, 172.21.1.0/24, and 172.21.2.0/24 networks. However, when
you view the routing table, your new route hidden.
Which action would you perform to determine the problem?

A. Verify that you have active contributing routes on the device.

B. Verify that you have configured a policy on the device to accept aggregate routes.
C. Verify that you have defined a metric value for the aggregate route.

D. Verify that you have set the preference to a lower default value.

Answer: D
NEW QUESTION 30
Exhibit
M Exhibit 3
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Referring to the exhibit, which two statements are correct? (Choose two.)

A. Prefixes in Level 1 will be redistributed to Level 2.
B. Prefixes In Level 2 will be not redistributed to Level 1.
C. Prefixes in Level 2 will be redistributed to Level 1.
D. Prefixes in Level 1 will not be redistributed to Level 2.

Answer: C

NEW QUESTION 32

Which two statements are correct about IS-1S? (Choose two.)

A. A level 1 only router can never form an adjacency with a level 2 only router.
B. For level 2 adjacencies, the area IDs can be different.

C. For level 2 adjacencies, the area IDs must be the same.

D. A level 1 only router can form an adjacency with a level 2 only router.

Answer: CD
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NEW QUESTION 34
Exhibit

pserfreouter> show mpls lap ingress detail

ingrass LSP: s&axlons
From: 0.0.0. 0, State: Dn, ActiveRoute: 0, LSPrname: to-R3
ActivapPacth: (none)
LE8Ptype: Static Configured, Fenultimate hop popping
LoadBalancea: Random
Follow destination IGP metczic
Enceoding type: Facket, Switching type: Packet, GEID: IPv4
LSF Self-ping Status Enabled

State:

SmartopcimizeTimer: 180

Flap

= massmmm s |

Q

MEBEB Count:
Will be sngueuesd for recomputation in 12 seacondi=)
1 Maxr & 23:22:22.9%8 CSPF: could not decermine self
serdrouter> show ted database
TED database: IS1IS nodes U INET nodes
[ediz protocols
userfirouterfy show
espl |
ATeA 0. 0.0
interface ge- 2.0;

bgp |
3:.“115‘- -u_ |
yneE TreEarnal e
=FEE sl nllaLs
local-address 152.168.0.1;
export nhs;
neighbor 192.168.0.3;
|
mpls |
label-switched-path to-R3 |
to 192.168.0.3;

The LSP is not establishing correctly.
Referring to the exhibit, what should you do to solve the problem?

A. Enable traffic engineering for the OSPF protocol.
B. Enable traffic engineering for the IS-IS protocol.
C. Enabile traffic engineering for the BGP protocol.
D. Enable traffic engineering for the RSVP protocol.
Answer: D

NEW QUESTION 39
Exhibit
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lediz]
uzerawiteond show routing-instances
=w—-1 |
inztance-type virtual-switch;
bridge-domains |
wvlan. 1 |
vlan-id 1;
|
vian 2
vlan-id 2;
b
i
Tedit]
dser@switchd show interfaces xe-1/70/5
wrnit O
family oridas |
interface-mcde access;
wlan-14 2,
I

You are asked to assign interface xe-1/0/5 to a virtual switch. What must be accomplished to complete the configuration?

A. Interface xe-1/0/5 must be added to routing-instance sw-1 vlan_2.

B. Interface xe-1/0'5 must be a trunk port.

C. Interface xe-1/0/5 must be added to routing-instance sw-1.

D. An IRB interface must be configured to routing-instance sw-1 vlan_2.

Answer: C

NEW QUESTION 40

You are bringing a new network online with three IS-IS routers using default Junos election priorities. The routers are configured as Level 2 only I1S-IS routers.

Which statement is true about the DIS election in this scenario?

A. The router with the highest MAC address will be elected as the DIS.

B. The router with the highest numerical 100 IP address will be elected as the DIS.
C. The router with the lowest numerical 100 IP address will be elected as the DIS.
D. The router with the lowest MAC address will be elected as the DIS.

Answer: B

NEW QUESTION 45

Interface ge-0/0/0.0 connecls yout network to your ISP. You want to advertise this interface address as an Internal route In OSPF without creating a neighbor with

your ISP.
In this scenario, how is this task accomplished?

A. Remove interface ge-0/0/0.0 from OSPF.

B. Create a generated route for Interface ge-0/0/0.0.
C. Add ge-0/0/0.0 as a passive interface In OSPF.
D. Configure a static route for Interface ge-0/0/0.0.

Answer: D

NEW QUESTION 50
Exhibit button
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Which two statements are correct about the service provider MPLS network shown in the exhibit? (Choose two.)

A. R3 will perform a label pop operation on the transport MPLS label.

B. Traffic from Network 1 to Network 3 and traffic from Network 1 to Network 4 each need their own unique label-switched path.

C. Traffic from Network 1 to Network 3 and from Network 1 to Network 4 can share the same label-switched path.
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D. R3 will perform a label swap operation on the transport MPLS label.

Answer: AD

NEW QUESTION 51
You are adding an IPv6 configuration to an Interface on a Junos device. In this scenario, which statement is correct?

A. The link local address must be manually configured within the fdOO0::/8 prefix range.
B. The link local address must be manually configured within the fe80::/10 prefix range.
C. The link local address is automatically created using the MAC address within the fe80::'10 prefix range.
D. The link local address is automatically created using the MAC address within the fd00::/8 prefix range.

Answer: D

NEW QUESTION 54
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